

Maisonette in Mosta



Mosta, Central



€283,000

Reference No: 240041053-241

 Total Rooms: **6**

 Floor Area (m²) : **85**

 Bathrooms: **2**

 Bedrooms: **1**

Maisonette - For Sale - Mosta

Mosta – This ground floor maisonette has a practical, squarish layout featuring an open living, kitchen and dining area, one bedroom, a study, an en-suite, and a main bathroom. The layout makes good use of the available space, making it comfortable for everyday living or as a rental investment. The property is being sold highly finished, excluding internal doors, and offers approximately 83 sqm of internal space. Freehold.

Features

- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ En Suite
- ✓ Electricity Utility
- ✓ PVC Piping
- ✓ Skirting

Rooms

- ✓ Kitchen : 2.21 x 3.32 m (7.34 m²)
- ✓ Living/Dining : 9 x 3.35 m (30.15 m²)
- ✓ Double Bedroom : 3.77 x 2.55 m (9.61 m²)
- ✓ Bathroom Ensuite : 1.3 x 2.21 m (2.87 m²)
- ✓ Office / Study : 3.24 x 3.65 m (11.83 m²)
- ✓ Bathroom : 2.21 x 2 m (4.42 m²)

Gallery





Alicia Borg
RE/MAX Park Estates - St Paul's Bay

M: 79023608
E: alicia@remax.com.mt
T: 21579747

RE/MAX Park Estates - St Paul's Bay
Park Estates Ltd, Mosta Road, St Paul's Bay, Malta